FRACTIONAL POL

lbw 1415 MHz BRDO B2209+080 2/7-MAY—-2012

0.05— -

0.00

—-0.05

-0.10

POSITION ANGLE, DEG

DELTAG = -0.136 +/— 0.007

PSI = -26.3 +/— 3.8

ALPHA =  —0.4 +/- 1.9

EPSILON = 0.007 +/— 0.002

PHI = —174.8 +/— 152

QSRC = 0.028 +/— 0.003

USRC = —0.047 +/— 0.003

POLSRC = +0.054 +/—~ 0.003

PASRC (+x*UNCORRECTED FOR M_ASTRO#*) = —29.38 +/— 1.35
NR GOOD POINTS= 103 103 103/ 104

SCAN 214900063

MUELLER MATRIX:

1.0000 —0.0682 —0.0141 —0.0003
—-0.0682 0.9999 0.0010 —-0.0149
—0.0132 0.0067 0.8965 0.4431

0.0051 0.0135 —0.4431 0.8964



FRACTIONAL POL

lbw 1550 MHz BRD1 B2209+080 2/7-MAY—-2012

0.05

0.00

-0.05

—-0.10

POSITION ANGLE, DEG

DELTAG = -0.152 +/— 0.029

PSI = —33.4 +/— 181

ALPHA = -56 +/- 89

EPSILON = 0.005 +/— 0.007

PHI = —160.1 +/— 79.7

QSRC = 0.030 +/— 0.010

USRC = —0.036 +/— 0.010

POLSRC = +0.047 +/— 0.010

PASRC (+*UNCORRECTED FOR M_ASTRO#*) = —24.82 +/— 6.40
NR GOOD POINTS= 100 102 99/ 104

SCAN 214900063

MUELLER MATRIX:

1.0000 —0.07/517 —0.0101 0.0112
—-0.07/59 0.9808 0.0008 —-0.1949
—0.0104 0.1075 0.8547 0.5400

0.0025 0.1629 —0.5506 0.8187



FRACTIONAL POL

<

lbw 1610 MHz BRDS B2209+080 2/7-MAY—-2012

0.05

0.00

—-0.05

—-0.10

-0.15

—-50 0 50
POSITION ANGLE, DEG

DELTAG = —0.196 +/— 0.001

PSI = -305 +/— 0.7

ALPHA = 0.8 +/- 0.3

EPSILON = 0.004 +/— 0.000

PH = 1675 +/— 5.9

QSRC = 0.044 +/— 0.001

USRC = —0.040 +/— 0.001

POLSRC = +0.059 +/— 0.001

PASRC (*xUNCORRECTED FOR M_ASTRO**) = —21.25 +/— 0.24
NR GOOD POINTS= 96 97 99/ 104

SCAN 214900063

MUELLER MATRIX:

1.0000 —0.0982 —0.0069 —0.0012
-0.0982 0.9996 0.0007 0.0281
—0.0051 —0.0143 0.8618 0.5070

0.0048 —0.0243 —0.507/2 0.8615



FRACTIONAL POL

lbw 1666 MHz BRD2 B2209+080 2/7-MAY-2012

0.05 -

0.00

-0.05

—-0.10

\ \ | XX

—-50 0 50
POSITION ANGLE, DEG

DELTAG = —-0.130 +/— 0.001

PSI = —31.1 +/— 06

ALPHA = -0.2 +/- 0.3

EPSILON = 0.004 +/— 0.000

PHI = 1775 +/— 4.1

QSRC = 0.047 +/— 0.000

USRC = —0.036 +/— 0.000

POLSRC = +0.059 +/— 0.000

PASRC (*xUNCORRECTED FOR M_ASTRO##) = —18.60 +/— 0.21
NR GOOD POINTS= 96 95 96,/ 104

SCAN 214900063

MUELLER MATRIX:

1.0000 —0.0650 —0.0088 0.0008
—0.0650 1.0000 0.0006 —-0.0064
—0.007/3 0.0033 0.8562 0.5166

0.0048 0.0054 —-0.5166 0.8562



